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Goals

Measure the H — WW decay of my final state and eventually combine data to find
a single cross-section



FCC-ee Simulation 100 ab-1 (240 GeV)
R EEEEN RN EE U B TN B O

= T T T ™
] ete” 5 WW

n
o 10"} alligfuia®
CUTFLOW oo =Falya i

10%k e*e” 5 wWH

Cut 1: 2 Hard Muons of of
Opposite Charges wh

10°F E

104; =

1035— =

e
V2
70p
6 I
$o
)'(95 =
7

@ & A

§ 4 é’ & S
N & S ¥ 5
I ¢ g s Vv

Q9 S &

3 & S

$ & $ £

~ f
9



Cut 2: Missing Mass
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FCC-ee Simulation 100 ab~! (240 GeV)
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Cut 4: Invariant Mass of
both Muons

FCC-ee Simulation 100 ab~! (240 GeV)
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Other Cut Ideas

- Missing invariant mass

- 2 soft muons

- Angle between the two particles
- Total momentum

- Hadronic energy



